

Άσκηση 1^η

Να βρείτε όλες τις μερικές παραγώγους δεύτερης τάξης των παρακάτω συναρτήσεων:

i) $f(x,y) = xy + (x+2y)^2$, ii) $f(x,y) = \mu\eta x \cdot \mu\eta^2 y$

iii) $f(x,y) = x \cdot e^y + yx^2$, iv) $f(x,y) = e^{-x^2-y^2}$

εί παραλείπει στην (iii);

ΛΥΣΗ

i). $\frac{\partial f}{\partial x}(x,y) = y + 2(x+2y) \frac{\partial}{\partial x}(x+2y) = 5y + 2x$

$\frac{\partial^2 f}{\partial x^2}(x,y) = 2$, Άρα, $\frac{\partial^2 f}{\partial x^2}(x,y) = 2$

• $\frac{\partial f}{\partial y}(x,y) = x + 2(x+2y) \frac{\partial}{\partial y}(x+2y) = 5x + 8y$

$\frac{\partial^2 f}{\partial y^2}(x,y) = 8$, Άρα $\frac{\partial^2 f}{\partial y^2}(x,y) = 8$

• $\frac{\partial^2 f}{\partial x \partial y}(x,y) = \frac{\partial f}{\partial x} \left(\frac{\partial f}{\partial y}(x,y) \right) = \frac{\partial f}{\partial x}(5x+8y) = 5$

• $\frac{\partial^2 f}{\partial y \partial x}(x,y) = \frac{\partial f}{\partial y} \left(\frac{\partial f}{\partial x}(x,y) \right) = \frac{\partial f}{\partial y}(5y+2x) = 5$

ii) $\frac{\partial f}{\partial x}(x,y) = \sigma\omega x \cdot \mu\eta^2 y$, $\frac{\partial f}{\partial y}(x,y) = (2 \cdot \mu\eta y \cdot \sigma\omega y) \mu\eta x =$

$\frac{\partial^2 f}{\partial x^2}(x,y) = -\mu\eta x \cdot \mu\eta^2 y$, $= \mu\eta x \cdot \mu\eta^2 x$

$\frac{\partial^2 f}{\partial y^2}(x,y) = 2 \cdot \mu\eta x \cdot \sigma\omega^2 y$

$\frac{\partial^2 f}{\partial y \partial x}(x,y) = 2\sigma\omega x \cdot \mu\eta y \cdot \sigma\omega y = \sigma\omega x \cdot \mu\eta^2 x$

$\frac{\partial^2 f}{\partial x \partial y}(x,y) = \sigma\omega x \cdot \mu\eta^2 y$

$$\text{iii)} \cdot \frac{\partial f}{\partial x}(x, y) = e^y + 2xy, \quad \frac{\partial f}{\partial y}(x, y) = x \cdot e^y + x^2$$

$$\cdot \frac{\partial^2 f}{\partial x^2}(x, y) = 2y, \quad \frac{\partial^2 f}{\partial y^2}(x, y) = x \cdot e^y$$

$$\cdot \frac{\partial^2 f}{\partial x \partial y}(x, y) = \frac{\partial f}{\partial x} \left(\frac{\partial f}{\partial y}(x, y) \right) = \frac{\partial f}{\partial x} (x \cdot e^y + x^2) = e^y + 2x$$

$$\cdot \frac{\partial^2 f}{\partial y \partial x}(x, y) = \frac{\partial f}{\partial y} \left(\frac{\partial f}{\partial x}(x, y) \right) = \frac{\partial f}{\partial y} (e^y + 2xy) = e^y + 2x$$

Βλεπουμε οτι $\frac{\partial^2 f}{\partial x \partial y} = \frac{\partial^2 f}{\partial y \partial x}$

$$\text{iv)} \cdot \frac{\partial f}{\partial x}(x, y) = e^{-x^2-y^2} \cdot \frac{\partial}{\partial x} (-x^2-y^2) = e^{-x^2-y^2} (-2x)$$

$$\cdot \frac{\partial^2 f}{\partial x^2}(x, y) = \frac{\partial}{\partial x} (-2e^{-x^2-y^2} \cdot x) =$$

$$= -2 \left[e^{-x^2-y^2} \cdot (-2x) \cdot x + e^{-x^2-y^2} \right] =$$

$$= 4x^2 e^{-x^2-y^2} - 2e^{-x^2-y^2} =$$

$$= e^{-x^2-y^2} \cdot [4x^2 - 2]$$

$$\cdot \frac{\partial f}{\partial y}(x, y) = -2y \cdot e^{-x^2-y^2}$$

$$\frac{\partial^2 f}{\partial y^2}(x, y) = e^{-x^2-y^2} \cdot [4y^2 - 2]$$

Ενω $\frac{\partial^2 f}{\partial x \partial y} = \frac{\partial f}{\partial x} \left(\frac{\partial f}{\partial y} \right) = 4xy \cdot e^{-x^2-y^2}$